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Note :

ffJ AII the Jaur guestions ffre egmFulsorg. i

fiiJ All quesffsns cnrry equul urefghfage.

1- Ansu,rer the fsllaruing questian in about 60ft words'

Diseuss with exarnFle= thc reading Frceess and its different

stages.

OH

H*w d*es ehildren's rnarning assembly Flag an irnportant

r*le in the develapment of ehild's persanality ? Discuss with

eaalnFles.
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2- Answer the following question in about 600 words.

Discuss the possible differences among learners in learning
a language.

OR

Discuss the concept of evaluation. Explain continuous and
comprehensive evaluation, ruith suitable examples.

3' Answer any four of the following questions in about
150 words each :

(i) Students need to be given training in silent reading.
Discuss its relevance at teaching language at the
primary stage.

(ii) What is meant hy non-electronic equipment ? Explain
any four non-electronic equipments used by the
teacher in the classroom.

(iii) Distinguish between the 'curriculum' 
and .syllabus,

with the help of suitable illustration.

(iv) As a conscientious teacher what measures will you
take for content enrichment of the children ?

(v) What are the types of radio programmes ? Explain
briefly each of them.

4 ' Answer the following question in about 600 words.

Discuss different steps of a unit structure. Prepare a unit
structure on any topic of your choice.
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2- ffi trFT sI Ftr{ *'rrrrT 600 r*' fr flrqq I
qrqr sTrlrrq + {ic fr er*o*il fr qE qri ERfrgqfuo Fr*nreft +t fq-+qqr st I

ETqEf

Tfliqq c a{-E*rrur'il 41 qqf Ht I sqgffi r{-ilrq tfr
s {TdE dEf qffi5 {Hisq +i ss 4t I

s' ffi fr F +$ aTTHu=T st I q+m sFT Hr si{
FFrrFl 1so yrEET fr E} :
(i) ffiffi +1 +q EI=I;T fr qR'Rrt Ei qrii qTfu |

HrPdh{ H{ T{ sTIq. BTt,IIT{ + Ti+f fr F*+B+fus q1 fq-+iln Et I
(ii) ft-g+qThs ffitrF{ fr FrT BTfiTqrq t ? sTqrqfr

HRT HHr fr trq}'r f+.q qri qd fua qR
+{-n+qTfud ffiFfr +1 qrreqr qi I

(iii) 
Yqgq Filil{rr
q E + 1  H t r H t t -  

\

(iv) qd s-ffiB sTrrrrrffr + Fq fr silq Fq) +
F-Hl-qrfr $Edq + rnq HT-ril sqm H{ H.ili
E /

a(v) ffi +-rfffiq + frfqq trFf{ ++r-+iq fr E}fr t ?
t{t H+# +1 riRTq qrcEil st I

4. ffi HT rrf{ rF* 600 *d fr frfuq I
Fr$ $|q{r + trFrH Tfr +T f{+-fiT Ei I BTrrl
qqiq + fsrsl sq-Frq T{ qfr ffir$ l.ir+iT sr fortur
H . t l
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